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1 INTRODUCTION

This UAS panel survey, titled "UAS 49: Financial Decision Making” survey builds upon prior
work developed through the Social Security Administrator’s Financial Literacy Center. The
survey asks respondents to make decisions as if they were giving someone financial ad-
vice, and concludes with an insurance game developed by Anya Samek. This survey was
funded as part of the Roybal Center for Health Decision Making and Financial Indepen-
dence in Old Age, ultimately exploring the question of whether or not people understand
annuities. This survey is no longer in the field. Respondents were paid $10 to complete
the survey.

1.1 Topics

This survey contains questions (among others) on the following topics: Financial Literacy,
Risk Preferences, Time Preferences. A complete survey topic categorization for the UAS
can be found

1.2 Experiments

This survey includes experiment(s) of the following type(s): Auxiliary Randomization, Vi-
gnettes With Randomly Determined Individual Characteristics. Please refer to explanatory
comments in the Routing section for detailed information. A complete survey experiment
categorization for the UAS can be found

1.3 Citation

Each publication, press release or other document that cites results from this survey must
include an acknowledgment of UAS as the data source and a disclaimer such as, ‘The
project described in this paper relies on data from survey(s) administered by the Under-
standing America Study, which is maintained by the Center for Economic and Social Re-
search (CESR) at the University of Southern California. The content of this paper is solely
the responsibility of the authors and does not necessarily represent the official views of
USC or UAS. For any questions or more information about the UAS, contact Tania Gutsche,
Project and Panel Manager, Center for Economic and Social Research, University of South-
ern California, atftgutsche@usc.edu.



https://uasdata.usc.edu/page/Surveys+by+topic
https://uasdata.usc.edu/page/Surveys+by+experiment
mailto:tgutsche@usc.edu

2 SURVEY RESPONSE AND DATA

2.1 Sample selection and response rate

The sample selection for this survey was:
All active respondents except Spanish speakers.

As such, this survey was made available to 5523 UAS participants. Of those 5523 par-
ticipants, 4530 completed the survey and are counted as respondents. Of those who are
not counted as respondents, 63 started the survey without completing and 930 did not start
the survey. The overall response rate was 82.02%.

Note: We are unable to provide sample weights for a small number of UAS members
(see the Sample weighting section below for details). If they completed the survey, these
members are included in the data set with a weight of zero, but accounted for in the com-
putation of total sample size and survey response rate.%.

The detailed survey response rate is as follows:

2.2 Timings

The survey took respondents an average of 15 minutes, and the full distribution of survey
response times is available in the figure below. Times per question are available upon re-
quest.
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2.3 Sample & Weighting

Weights are included in the data set for this survey. This survey dataset may contain
respondents with a weight of zero. These respondents belong to a small group of UAS
members for whom sample weights cannot be computed due to non-probability recruitment
for special projects. Hence, while they are accounted for in the total number of survey
respondents, they do not contribute to any statistics using sample weights. For more details
on the UAS weighing procedures please refer to the[UAS Weighting Procedures V1| Please
contact UAS staff with any questions.



https://uasdata.usc.edu/page/Weights

3 STANDARD VARIABLES

Each Understanding America Study data contains a series of standard variables, consisting
of individual, household and sample identifiers, language indicator, time stamps and a
rating by the respondent of how much he or she liked the survey:

o |uasid: the identifier of the respondent. This identifier is assigned to a respondent at
recruitment and stays with the respondent throughout each and every survey he/she
participates in. When analyzing data from multiple surveys, the ‘uasid’ can be used
to merge data sets.

o luashhid: the household identifier of the respondent. Every member is assigned
a household identifier, stored in the variable ‘uashhid’. For the primary respondent
this identifier equals his or her ‘vasid’. All other eligible members of the primary
respondent’s household (everyone who is 18 or older in the household) who become
UAS respondents receive the ‘uasid’ of the primary respondent as their household
identifier. The identifier ‘uashhid’ remains constant over time for all respondents.
Thus it is always possible to find the original UAS household of an UAS panel member
(even after they, for example, have moved out to form another household).

o [survhhid: uniquely identifies the household a UAS panel member belongs to in a
given survey. For instance, if the primary respondent and his/her spouse are both
UAS members at the time of a given survey, they both receive the same ‘survhhid’
identifier for that survey. If they subsequently split, they receive two different ‘survh-
hid’ in subsequent surveys. They, however, always share the same ‘uashhid’. The
identifier ‘survhhid’ is set to missing (.) if no other household members are UAS panel
members at the time of the survey. Since individuals can answer the same survey at
different points in time (which can be relatively far apart if the survey is kept in the
field for a prolonged time), it may be possible that, within the same data set, house-
hold members have different ‘survhhid’ reflecting different household compositions at
the time they answered the survey. For instance, suppose that the primary respon-
dent and his/her spouse are both UAS members. If the primary respondent answers
the survey when he/she is living with the spouse, but the spouse answers the sur-
vey when the couple has split, they receive different ‘survhhid’. Hence, the variable
‘survhhid’ identifies household membership of UAS panel members, at the time the
respondent answers the survey. Note: in the My Household survey ‘survhhid’ is set to
unknown (.u) for respondents who last participated in the My Household survey prior
to January 21, 2015.

o luasmembers| is the number of other household members who are also UAS panel
members at the time of the survey. Since individuals can answer the same survey at
different points in time (which can be relatively far apart is the survey is kept in the field
for a prolonged time), it may be possible that, within the same data set, the primary
respondent of a household has a value of ‘0’, whereas the second UAS household
respondent has a value of ‘1’. Therefore ‘uasmembers’ should be interpreted as the


https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEztFIyBNEWVkogrXmJuWBdplZKpYlgbbVcMGqeIZ8,
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXLBGcyul0sTijAyQulpcMAxFIwQ,
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMTcVCi3uLSoLCMDpLAWXDAxOSOM
https://uasdata.usc.edu/index.php?r=eNo1jE0KgCAQhe8yBxANFzWeZkwJQSOcbBPdvdFo8_h4f4QWbxaBg7YIjnHSws3ntKpAXCepi2pcIp9HJjXmFEYNwS6_Fz9P0GitO84Ifb1TGUMjp424xOJjZXDPC5rSJHw,

number of household and UAS panel members at the time the respondent answers
the survey. Note: in the My Household survey ‘uasmembers’ is set to unknown (.u)
for respondents who last participated in the My Household survey prior to January
21, 2015.

o [sampleframe; indicates the sampling frame from which the household of the respon-
dent was recruited. All UAS recruitment is done through address based sampling
(ABS) in which samples are acquired based on postal records. Currently, the variable
‘sampleframe’ takes on four values reflecting four distinct sample frames used by the
UAS over the year (in future data sets the number of sample frames used for recruit-
ment may increase if additional specific populations are targeted in future recruitment
batches):

1. U.S. National Territory: recruited through ABS within the entire U.S.

2. Areas high concentration Nat Ame: recruited through ABS in areas with a high
concentration of Native Americans in the zip-code. Within these batches, indi-
viduals who are not Native Americans are not invited to join the UAS.

3. Los Angeles County: recruited through ABS within Los Angeles County.

4. California: recruited through ABS within California.
Note: prior to March 6, 2024 this variable was called sampletype and had the following
value labels for the above list in UAS data sets:

1. Nationally Representative Sample: recruited through ABS within the entire U.S.

2. Native Americans: recruited through ABS in areas with a high concentration of
Native Americans. Within these batches, individuals who are not Native Ameri-
cans are not invited to join the UAS.

3. LA County: recruited through ABS within Los Angeles County.
4. California: recruited through ABS within California.

o [batch] indicates the batch from which the respondent was recruited. Currently, this
variable takes the following values (in future data sets the number of batches may
increase as new recruitment batches are added to the UAS):

Prob Sample, ASDE 2014/01

Prob Sample, ASDE 2014/01

Prob Sample, ASDE 2014/01

Non-Prob Sample, 2015/05

Prob Sample, MSG 2015/07

Prob Sample, MSG 2016/01

Prob Sample, MSG 2016/01

Prob Sample, MSG 2016/01

Prob Sample, MSG 2016/02
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https://uasdata.usc.edu/index.php?r=eNo1i0EOgCAMBP_SBxAwHLS-pggaEjCEqhfj3y0YL81kOkto8WY5UGgLMDMOWvh0KS7K00HqohrJpf6TjDn6niHY6Xfhc4JGa91wRGjrnXIfGiMV5ZLCWrt6Xr_LJNY,
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXLBGUyulpMSS5Awl61pcMMUeXCIe

10. Prob Sample, MSG 2016/03
11. Prob Sample, MSG 2016/04
12. Prob Sample, MSG 2016/05
13. Prob Sample, MSG 2016/08
14. Prob Sample, MSG 2017/03
15. Prob Sample, MSG 2017/11

16. Prob Sample, MSG 2018/02
17. Prob Sample, MSG 2018/08
18. Prob Sample, MSG 2019/04
19. Prob Sample, MSG 2019/05
20. Prob Sample, MSG 2019/11

21. Prob Sample, MSG 2020/08
22. Prob Sample, MSG 2020/10
23. Prob Sample, MSG 2021/02
24. Prob Sample, MSG 2021/08
25. Prob Sample, MSG 2021/08
26. Prob Sample, MSG 2022/02
27. Prob Sample, MSG 2022/02
28. Prob Sample, MSG 2022/08
29. Prob Sample, MSG 2022/11

30. Prob Sample, MSG 2022/11

31. Prob Sample, MSG 2023/01

32. Prob Sample, MSG 2023/06
33. Non-Prob Sample, MSG 2023/09
34. Prob Sample, MSG 2023/10
Note: prior to March 6, 2024 this variable had the following value labels for the above
list in UAS data sets:

ASDE 2014/01 Nat.Rep.

ASDE 2014/01 Native Am.
ASDE 2014/11 Native Am.

LA County 2015/05 List Sample
MSG 2015/07 Nat.Rep.

MSG 2016/01 Nat.Rep. Batch 2
MSG 2016/01 Nat.Rep. Batch 3
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8. MSG 2016/01 Nat.Rep. Batch 4

9. MSG 2016/02 Nat.Rep. Batch 5
10. MSG 2016/03 Nat.Rep. Batch 6
11. MSG 2016/04 Nat.Rep. Batch 7
12. MSG 2016/05 Nat.Rep. Batch 8
13. MSG 2016/08 LA County Batch 2
14. MSG 2017/03 LA County Batch 3
15. MSG 2017/11 California Batch 1
16. MSG 2018/02 California Batch 2
17. MSG 2018/08 Nat.Rep. Batch 9
18. MSG 2019/04 LA County Batch 4
19. MSG 2019/05 LA County Batch 5
20. MSG 2019/11 Nat. Rep. Batch 10
21. MSG 2020/08 Nat. Rep. Batch 11
22. MSG 2020/10 Nat. Rep. Batch 12
23. MSG 2021/02 Nat. Rep. Batch 13
24. MSG 2021/08 Nat. Rep. Batch 15
25. MSG 2021/08 Nat. Rep. Batch 16
26. MSG 2022/02 Nat. Rep. Batch 17 (priority)
27. MSG 2022/02 Nat. Rep. Batch 17 (regular)
28. MSG 2022/08 Nat. Rep. Batch 18
29. MSG 2022/11 LA County Batch 6
30. MSG 2022/11 Nat. Rep. Batch 20
31. MSG 2023/01 Nat. Rep. Batch 21
32. MSG 2023/06 Nat. Rep. Batch 22
33. MSG 2023-09 Native Am. Batch 3
34. MSG 2023-10 Nat. Rep. Batch 23

o |primary_respondent|. indicates if the respondent was the first person within the
household (i.e. to become a member or whether s/he was added as a subsequent
member. A household in this regard is broadly defined as anyone living together with
the primary respondent. That is, a household comprises individuals who live together,
e.g. as part of a family relationship (like a spouse/child/parent) or in context of some
other relationship (like a roommate or tenant).

o [hardware| indicates whether the respondent ever received hardware or not. Note:
this variable should not be used to determine whether a respondent received hard-
ware at a given point in time and/or whether s/he used the hardware to participate in
a survey. Rather, it indicates whether hardware was ever provided:



https://uasdata.usc.edu/index.php?r=eNo1S1sKgCAQvMseQDL8qPUwsaaEUCauBRHdPTX6mfcQKry5XDBEWhxoxr4r-jCrn4WlTOKk5MmsrSszZm_bDEGNf-a-TFwiyMoDQr0G2tpLFh-T3yhdU3Ic92BdyKCfF2_VXCdi
https://uasdata.usc.edu/index.php?r=eNo1S8kNgCAQ7GULIGJ46FrNIERJ0BjweBh7d0X9zD1gw2cWoAWDpy5zXYnebAy9clihdqRcMBtLXCeznIMrMybT_pl_M82kH26YnuuMyX92RHIHktjrBtLwXCLa

1. None
2. Tablet (includes Internet)

o [languagef the language in which the survey was conducted. This variable takes a
value of 1 for English and a value of 2 for Spanish.

o start_date (start_year, start month, start_day, start_hour, start_min, start_sec):
indicates the time at which the respondent started the survey.

o end_date (end_year, end_month, end_day, end_hour, end_min, end_sec): indicates
the time at which the respondent completed the survey.

o |cs_001} indicates how interesting the respondent found the survey.
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https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEztFIyBNEWVkogrXmJualQbk5iXnop2IJaXDDSy1wi0A,,
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxBTAsrJZDuvMRcXLBGMyul5OJ4sFxcLVww5Q4h5A,,

4 BACKGROUND DEMOGRAPHICS

Every UAS survey data set includes demographic variables, which provide background in-
formation about the respondent and his/her household. Demographic information such as
age, ethnicity, education, marital status, work status, state of residence, family structure
is elicited every quarter through the “My Household” survey. The demographic variables
provided with each survey are taken from the most recent ‘MyHousehold’ survey answered
by the respondent. If at the time of a survey, the information in “My Household” is more
than three months old, a respondent is required to check and update his or her information
before being able to take the survey.

The following variables are available in each survey data set:

o |[gender]: the gender of the respondent.

o |dateofbirth_year}: the year of birth of the respondent.

o [aget the age of the respondent at the start of the survey.

o [agerange; if the respondent’s age cannot be calculate due to missing information,
‘agerange’ indicates the approximate age. Should a value for both the ‘age’ and
‘agerange’ be present, then ‘age’ takes precedence over ‘agerange’.

o [citizenus! indicates whether the respondent is a U.S. citizen.
o [bornust indicates whether the respondent was born in the U.S.

o |stateborn| indicates the state in which the respondent was born. This is set to
missing (.) if the respondent was not born in the U.S.

o [countryborni indicates the country in which the respondent was born. This is set to
missing (.) if the respondent was born in the U.S.

o |countryborn_other: indicates the country of birth if that country is not on the drop
down list of countries shown to the respondent’.

o the state in which the respondent is living.

o immigration_status|: indicates whether the respondent is an immigrant. It takes one
of the following values: 0 Non-immigrant, 1 First generation immigrant (immigrant who
migrated to the U.S), 2 Second generation immigrant (U.S.-born children of at least
one foreign-born parent), 3 Third generation immigrant (U.S.-born children of at least
one U.S.-born parent, where at least one grandparent is foreign-born), or 4 Unknown
immigrant status.

o |maritalstatus| the marital status of the respondent.

o [livewithpartner; indicates whether the respondent lives with a partner.
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https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXLBGMyul9NS8lNRcIiXrWlww6FBcIpI,
https://uasdata.usc.edu/index.php?r=eNo1i1sKgCAQRfcyCxANiRoXE2NaCfZALYho75nRz-XcF6HEK2aBjUYLKmLFM-_au54ZSsQOCo60L12exehMmSHI9s_sl2UUnPMXG4T3vdBcXI6iLt6ug3YhTd1pKYC6H3_nJuo,
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXLBGYyslsPG1XDCAZyFH
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMTcVCgXaHxRYh7IjlpcMC8_I1k,
https://uasdata.usc.edu/index.php?r=eNo1i1EKgCAQRO-yBxALP3I9zaYSCybRWh9Fd0-NfobHzDxCg7fUgI2WCE5w1JWPObFXgQqpk3amOfWt3kQ49BuCsX8Xv67ioLVuOCE0O9PaRYvgufAV8yHgnhdVDyP-
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXLBGMyulpPyivNJiJetaXDDpH1witg,,
https://uasdata.usc.edu/index.php?r=eNo1i1EKgCAQRO-yB5At_Mj1NGtJCGah1k9091ajn-Ex84ZJ010k4ODVgy00ovDpYpjVwpXVxTmwi30TrZSwdI1Am7_zX1wnOCBiw4mgvRNv_WhEqlxcvdtzAvu8VRMj8g,,
https://uasdata.usc.edu/index.php?r=eNo1i1sKgCAURPdyFyAaftR1NVeNEEzDRxDR3lOjn-EwM4dQ4p1bwEHbCirjxBtX7Z1hlgqxk5Ij7cfWbjk7O24Icvm79esaCs55xxmh24H2IQqBYGINJV06plww6nkBwWklDg,,
https://uasdata.usc.edu/index.php?r=eNo1i20KgCAQRO-yBwiNoNoOE-sHJZiGWhDR3VOjP8NjZh5hh3fMATstGqaILct8CGtkoyhRc1IwJGzd8i1Go-oNoRv_Tn9dRs4YKzggFNvRVkXeI0h_uBQu4YObfVp1gOl5AatmXCeV
https://uasdata.usc.edu/index.php?r=eNo1i9EKgCAMRf9lHyAzfKj1NTMlBItw1kv0702jl3E4u4fJ0S164OA1wiw0oPLpc1pM4Mrm4pLY5_7TmUgKfUbgpt_FzylaRGw4ErR6562H1uqqco0laq_qeQHAjyTm
https://uasdata.usc.edu/index.php?r=eNo1i0sKgDAMRO-SA0grLjQeRsYPErBVTHUj3t1YcTO8-YErvtSENswTtcqlMz76RYZiREJxYhf0S-5spipjnjFVzZ9NX2bonXMv1kzvO1wi5KM3LyHIvCPJGjtNSIdSez_SClwn8w,,
https://uasdata.usc.edu/index.php?r=eNo1jE0KgCAQhe8yBwgtFzWd5pUSgkY01ia6e5PR5vHx_sCOL1GhDUugUbg1yseU4tx4FDRcJ_aIKdVMa1wi0dcakxt-L3yeojXGvNgzvesVuQ5tx5T1qCBJQTmExvsBDK8l2Q,,
https://uasdata.usc.edu/index.php?r=eNo1i1EKgCAQRO-yBxANg9pOs5bUgomo2Ud098zoZ3jMzCPUeKUaEGi1MCXsZOXDOJ7FQplEochkXFzb6i0lXtoNQY9_Z7-uopJSvjggvLanvYmqR3BcXOzJeQsUs7cRpvsBWy4mtQ,,livewithpartner

o leducationi the highest level of education attained by the respondent.

o |hisplatinof indicates whether the respondent identifies him or herself as being His-
panic or Latino. This variable is asked separately from race.

o |hisplatinogroup| indicates which Hispanic or Latino group a respondent identifies
him or herself with. This is set to missing (.) if the respondent does not identify him
or herself as being Hispanic or Latino.

o [white; indicates whether the respondent identifies him or herself as white (Cau-
casian).

o |black: indicates whether the respondent identifies him or herself as black (African-
American).

o indicates whether the respondent identifies him or herself as Native
American (American Indian or Alaska Native).

o [asian|: indicates whether the respondent identifies him or herself as Asian (Asian-
American).

o |pacific} indicates whether the respondent identifies him or herself as Native Hawaiian
or Other Pacific Islander.

o [race} indicates the race of the respondent as singular (e.g., ‘1 White’ or 2 Black’)
or as mixed (in case the respondent identifies with two or more races). The value
‘6 Mixed’ that the respondent answered ‘Yes' to at least two of the single race cate-
gories. This variable is generated based on the values of the different race variables
(white, black, nativeamer, asian, pacific). This composite measure is not conditional
on hisplatino, so an individual may identify as Hispanic or Latino, and also as a mem-
ber of one or more racial groups.

o [working} indicates whether the respondent is working for pay.
o |sickl leave: indicates whether the respondent is not working because sick or on leave.
o lunemp_layoff: indicates whether the respondent is unemployed or on lay off.

o junemp_look: indicates whether the respondent is unemployed and looking for a job.
o indicates whether the respondent is retired.

o |disabled: indicates whether the respondent has a disability.

o [If_other; specifies other labor force status.

o [laborstatus; indicates the labor force status of the respondent as singular (e.g., ‘1
Working for pay’ or ‘2 On sick or other leave’) or as mixed (in case the respondent

selects two or more labor statuses). The value ‘8 Mixed’ indicates that the respondent
answered ‘Yes’ to at least two of the single labor force status variables. This variable
is generated based on the values of the different labor status variables (working,
sick_leave, unempl_layoff, unempl_look, retired, disabled, If_other).
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https://uasdata.usc.edu/index.php?r=eNo1i10KgCAQhO-yB5AtfMj1NOsPIZhFai_R3VOjl-FjZj4mSXduAQevHnSmGRtXE4MVjguLi8_AJo6t3XIObtwIpPo7_3UNXCdE7LgQdDvxNkRF4F21XFzCnkA_L1QVI9w,education
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXLBGc6CigsS8zOIMJetaXDAMmiMUspanish
https://uasdata.usc.edu/index.php?r=eNo1i0EKgDAMBP-SB0gUD5q-JmqpAa3FqBfx76YVL8uwO8vU0q0WkDh4cEoNGp_DXCJjNfHB1cW78LCUzTRVmYpG0PZ_57_OsEbEjB1Bfkdey7E2XRNH0Tns25nAPS_mryVtspanishgroup
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXLBGUyul8ozMEiC7Flwwxf5cIj0,
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXLBGUyulpJzE5Gwl61pcMMUFXCIZ
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXLBGQ6CheYklmWWpQIFcIiXrWlwwmpckdA,,
https://uasdata.usc.edu/index.php?r=eNo1i1EKgCAQRO-yBxALg1pPM6aEYBJt9RPdPTX6GR4z88CGbylBG5ZAVrjXhU-X4qw8DqgLe4RLbSs3kejbjclMfxe-rmCnta44MlU7Y23iwASJyGSfF8VgXCIo
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXLBGc5D5yZlpmclK1rVcMAuKXCLt
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXJjGosRkILMWXDCiuyG2
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXLBGcyul8vyi7My8dCXrWlwwDQ8jHw,,
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXLjGzORsJetaXDCjCiHF
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXLBGQ6Dy0rzU3IL4nMTK_LQ0JetaXDDmECVP
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXLBGQ6ChpXmpuQXxOfn52UrWtVwwmxokgQ,,
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXLBGcyulotSSzKJUoLpaXDAMgiMN
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMTcVBg3sxhkDFBhLVwwL1cjVw,,
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMTcVCg3XCctPr8kI7VIyboWXDAv6yNy
https://uasdata.usc.edu/index.php?r=eNo1i0sOgCAQQ-8yByBgXFzocJqixpDgXCcMuDHeXcC4aV7aPnDPt5SgE-tCVrjThbMLflIzEtSF6OFC28pNxM_txtSPf7d8XUGjta44MFV7x9ZEY5gC3BElIWUh-7zAXyT9

o lemploymenttype| indicates the employment type of the respondent (employed by
the government, by a private company, a nonprofit organization, or self-employed).
This is set to missing (.) if the respondent is not currently working or currently on sick
or other leave.

o |workfullpart; indicates whether the respondent works full or part-time. This is set
to missing (.) if the respondent is not currently working or currently on sick or other
leave.

o lhourswork indicates the number of hours the respondent works per week. This is
set to missing (.) if the respondent is not currently working or currently on sick or
other leave.

o [hhincome is the total combined income of all members of the respondent’s house-
hold (living in their household) during the past 12 months.

o [anyhhmember: indicates whether there were any members in the respondent’s
household at the time he/she answered the survey as reported by the respondent.

o lhhmembernumber: indicates the number of household members in the respon-
dent’s household at the time of the survey as reported by the respondent. It may
be that ‘anyhhmember’ is ‘Yes’, but ‘hhmembernumber’ is missing if the respondent
did not provide the number of household members at the time of the survey.

o [hhmemberin_# indicates whether a household member is currently in the house-
hold as reported by the respondent. Household members are never removed from
the stored household roster and their information is always included in survey data
sets. The order of the roster is the same order in which household members were
specified by the respondent in the ‘MyHousehold’ survey. The order is identified by
the suffix # (e.g., _1 indicates the first household member, _2 the second household
member, etc.).

As an example, if the first household member is in the household at the time of the
survey, ‘hhmemberin_1’is set to ‘1 HH Member 1 is in the HH’; if he/she has moved
out, ‘hhmemberin_1’ is set to ‘0 HH member 1 is no longer in the HH'. Since infor-
mation of other household members (stored in the variables listed below) is always
included in survey data sets, information about ‘hhmemberin_1’ is available whether
this person is still in the household or has moved out.

o [hhmembergen #: indicates the gender of another household member as reported
by the respondent.

o [hhmemberage_#: indicates the age of another household member. The age is de-
rived from the month and year of birth of the household member as reported by the
respondent.

o [hhmemberrel #: indicates the relationship of the respondent to the other household
member as reported by the respondent.
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https://uasdata.usc.edu/index.php?r=eNo1i0sKgDAMRO-SA5QoXWg8TfxSrB-aqgvx7qYVN8Nj5g2TpVs0YOdpgEaoROWj9a4zPUc2XCcHx63Pm2pcIq7PGoGt_274OsUCERNWBOm98pKPherXFubx8H7nEKF5Xud0JXc,
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMRcXLBGSyuljPzSouLy_KJsJetaXDBWBSQU
https://uasdata.usc.edu/index.php?r=eNpLtDKxqi4GEkoFiempStbFVkYGQHZpUk5msl5KYkmiXlliUWZiUg5YDqisuDgzBazMSsnEEiaWChEDMg0NDAxATAsrJZDuvMTcVCg3IyMzLzkfxK0FXDAvzCNq
https://uasdata.usc.edu/index.php?r=eNo1i1EKgCAQRO-yB5A1_Kj1NGtKCSqhFUR099ToZ3jMzGNSdJcasPHiQBcasPJhgp-F5Z3FydmzCX2rt1K87TcCNf2d-7qKEhEbjgTNThy7KCUBp2tdo4vGZdDPC7-3JNk,
https://uasdata.usc.edu/index.php?r=eNo1i1EKgCAQRO-yBxANP2o9zZpSgkpo9hPdvdXoZ3jMmyHUeFcOOGjzYCpOkrnZGFbh6CRxUQlk43A8qzW4MUPQy9_5r2NUUsqOM0J_Z0rjqFjte_LJ-pJbTzDPCzH9Jh0,
https://uasdata.usc.edu/index.php?r=eNo1i1EKgCAQRO-yBxANP2o9TKwlKaiEVj_R3VuNfobHzBtCjXflgJ02B6biIJlPG8NcIlY6SFxcVALZ2DfWag1r1xD09Hfu6xiVlLLhiNDemVI_Kta9Ty5ZV0KeFZjnBePaJPk,
https://uasdata.usc.edu/index.php?r=eNo1i1EKgCAQRO-yBwiNiNoOE2suKWiEVj_R3VuNfobHzDzCDu8sATutDFPGVgmfJvilsXRQc1HyZELd5Jazt_WG0I1_x19cJ6iVUgUHhGJvFKuoewTnXCJHw2nlzXKaNUzPC356Jps,
https://uasdata.usc.edu/index.php?r=eNo1jU0KgCAQhe8yBxCtFjUeJsaUFDRCq01090ajzePj_fAIB7wLC-y0OtAFO8l8mhgWYekgcVEOZGLLuFZKsK2GMEy_5z6PUUkpK44Idb1RakPVI3ifXFwyLvPPrEA_Lwl4JVA,
https://uasdata.usc.edu/index.php?r=eNo1i1EKgCAQRO-yBxCtPmo9TKy5pKARWv1Ed0-NfobHzDzCAe9cXAJ2Whl0xk4WPk3wi7B0kLgoeTKhbeWWs7fthjBMf8dfV1BJKSuOCNXeKDZR9QjORY6GU-IwK9DPCwocJWY,

o [hhmemberuasid #: is the ‘uasid’ of the other household member if this person is also
a UAS panel member. It is set to missing (.) if this person is not a UAS panel member
at the time of the survey. Since this identifier is directly reported by the respondent
(chosen from a preloaded list), it may differ from the actual (correct) ‘uasid’ of the
UAS member it refers to because of reporting error. Also, this variable should not
be used to identify UAS members in a given household at the time of the survey.
This is because the variables ‘hhmemberuasid # are taken from the most recent
‘My Household’ and changes in household composition involving UAS members may
have occurred between the time of the respondent answered ‘My Household’ and
the time the respondent answers the survey. To follow UAS members of a given
household, it is advised to use the identifiers ‘uashhid’ and ‘survhhid’.

o [lastmyhh_date}: the date on which the demographics variables were collected through
the ‘My Household’ survey.
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https://uasdata.usc.edu/index.php?r=eNo1i0sKgDAMRO-SA5T4WWg8jERbtFBFTBVEvLtpxc3weDPDVNMtGrDx5KATKlH5GIIfjeXI5uTd8xBypzMRb_OMoG5_5z6nWCBiwoYgvVde8rGoCAJLXFyuee61UPm8DCMlsg,,

5 MISSING DATA CONVENTIONS

Data files provide so-called clean data, that is, answers given to questions that are not ap-
plicable anymore at survey completion (for example because a respondent went back in the
survey and skipped over a previously answered question) are treated as if the questions
were never asked. In the data files all questions that were asked, but not answered by the
respondent are marked with (.e). All questions never seen by the respondent (or any dirty
data) are marked with (.a). The latter may mean that a respondent did not view the question
because s/he skipped over it; or alternatively that s/he never reached that question due to
a break off. If a respondent did not complete a survey, the variables representing survey
end date and time are marked with (.c). Household member variables are marked with (.m)
if the respondent has less household members (e.g. if the number of household members
is 2, any variables for household member 3 and up are marked with (.m).

UAS provides data in STATA and CSV format. Stata data sets come with include vari-
able labels that are not available in the CSV files. Value labels are provided for single-
response answer option. In STATA these labels will include the labels ‘Not asked’ and ‘Not
answered’ for (.a) and (.e), and will show in tabulations such as ‘tab q1, missing’. For
multiple-response questions a binary variable is created for each answer option indicating
whether the option was selected or not. A summary variable is also provided in string for-
mat reflecting which options were selected and in which order. For example, if a question
asked about favorite animals with options cat, dog, and horse, then if a respondent selected
horse and then cat, the binary variables for horse and cat will be set to yes, while the overall
variable would have a string value of ‘3-1’. If no answer was given, all binary variables and
the summary variable will be marked with ‘.e’.

Questions that are asked multiple times are often implemented as so-called array ques-
tions. Supposing the name of such question was Q1 and it was asked in 6 different in-
stances, your data set would contain the variables Q1_1_to Q1_6_. To illustrate, if a survey
asked the names of all children, then child_1_ would contain the name of the first child the
respondent named and so on.

More information about the UAS data in general can be found on the |UAS Data Pages
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6 ROUTING SYNTAX

The survey with routing presented in the next section includes all of the questions that
make up this survey, the question answers when choices were provided, and the question
routing. The routing includes descriptions of when questions are grouped, conditional logic
that determines when questions are presented to the respondent, randomization of ques-
tions and answers, and fills of answers from one question to another.

If you are unfamiliar with conditional logic statements, they are typically formatted so that
if the respondent fulfills some condition (e.g. they have a cellphone or a checking ac-
count), then they are presented with some other question or the value of some variable
is changed. If the respondent does not fulfill the condition (e.g. they are not a cellphone
adopter or they do not have a checking account), something else happens such as skip-
ping the next question or changing the variable to some other value. Some of the logic
involved in the randomization of questions or answers being presented to the respondent is
quite complex, and in these instances there is documentation to clarify the process being
represented by the routing.

Because logic syntax standards vary, here is a brief introduction to our syntax standards.
The syntax used in the conditional statements is as follows: ‘=" is equal to, ‘<’ is less than,
‘>’ is greater than, and ‘=" is used for does not equal. When a variable is set to some
number N, the statement looks like ‘variable := N’.

The formatting of the questions and routing are designed to make it easier to interpret
what is occurring at any given point in the survey. Question ID is the bold text at the top of
a question block, followed by the question text and the answer selections. When a question
or variable has associated data, the name links to the appropriate data page, so you can
easily get directly to the data. Text color is used to indicate the routing: red is conditional
logic, is question grouping, green is looping, and orange is used to document random-
ization and other complex conditional logic processes. The routing is written for a computer
to parse rather than a human to read, so when the routing diverges significantly from what
is displayed to the respondent, a screenshot of what the respondent saw is included.

The name of the randomization variables are defined in proximity to where they are put

into play, and like the question ID the names of the randomization variables can be used to
link directly to the associated data page.

16



7 SURVEY WITH ROUTING

(intro in section Base)

In the following survey we want you to play the role of financial advisor. We will show you
some examples of persons who have to make a decision about money and we will ask you
to help them make the decision.

Start of section|Randomization

/* In this survey several randomizations are performed. The values for the randomizers
involved are set below. Explanations for them can be found in the sections in which they
are used. */

IF randomizer_name = EMPTY THEN
randomizer_name := mt_rand(1,4)
Fill code of question randomizer_ed_name executed

END OF IF

IF randomizer_education = EMPTY THEN
| randomizer_education := mt_rand(1,2)

END OF IF

IF randomizer_education_block = EMPTY THEN
| randomizer_education_block := mt_rand(1,2)

END OF IF

IF randomizer_advice_intro = EMPTY THEN
| randomizer_advice_intro := mt_rand(1,3)

END OF IF

IF randomizer_advice _Isstartvalue = EMPTY THEN
| randomizer_advice _Isstartvalue := mt_rand(1,3)

END OF IF

IF randomizer_advice_order = EMPTY THEN
| randomizer_advice_order := mt_rand(1,2)

END OF IF

IF randomizer_advice_answer_order = EMPTY THEN
| randomizer_advice_answer_order := mt_rand(1,2)
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END OF IF

IF randomizer_advice_ssb = EMPTY THEN
| randomizer_advice_ssb := mt_rand(1,4)

END OF IF

IF randomizer_framing_order = EMPTY THEN
| randomizer_framing_order := mt_rand(1,2)
END OF IF

IF randomizer_insurance_order = EMPTY THEN
| randomizer_insurance_order := mt_rand(1,2)

END OF IF

IF randomizer_insurance_group = EMPTY THEN
| randomizer_insurance_group := mt_rand(1,4)
END OF IF

IF randomizer_insurance_ambiguity = EMPTY THEN
| randomizer_insurance_ambiguity := mt_rand(1,2)
END OF IF

IF (randomizer_advice_answer_order = 1) THEN
randomizer_advice_answer_order_internal(1) := 1
randomizer_advice_answer_order_internal(2) := 2

ELSE
randomizer_advice_answer_order_internal(1) := 2
randomizer_advice_answer_order_internal(2) := 1

END OF IF

Fill code of question FLName executed

Fill code of question FLSheHe executed

Fill code of question FLSheHeCaps executed
Fill code of question FLHisHer executed

Fill code of question FLHisHerCaps executed
Fill code of question FLManWoman executed
Fill code of question FLSSB executed
FLSSBEXxtra := FLSSB + 100

FLSSBMinus := FLSSB - 100

End of section|Randomization
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Start of section [Educationsection|

/*

*/

o [randomizer_education| Indicates whether the respondent received the Education

section (randomizer_education = 1) or not (randomizer_education = 2).

o [randomizer_ed_name| Determines the name used in the hypothetical questions in

the Education section: 1 Mr. Jones, 2 Mrs. Jones, 3 Mr. Smith, 4 Mrs. Smith.

o randomizer_education_block{ Determines the explanatory text used in the section

introduction (ed_intro):

— Value of 1: His/Her advisor explains that s/he could decide to spend down his/her

savings relatively quickly. In this case, s/he will be more likely to be able to
enjoy his/her money during his/her lifetime. But s/he also runs a risk of run-
ning out of money while alive and having to cut back on his/her spending as
a result.jbr/; jbr/¢ His/Her advisor explains that s/he could also decide to spend
down his/her savings relatively slowly. In this case, s/he will be less likely to run
out of money. But now s/he runs a risk of not getting to enjoy all his’lher money
during his/her lifetime.

Value of 2: His/Her advisor explains that s/he could decide to spend down his/her
savings relatively slowly. In this case, s/he will be less likely to run out of money.
But now s/he runs a risk of not getting to enjoy all his/her money during his/her
lifetime.jbr/¢ jbr/¢ His/Her advisor explains that s/he could also decide to spend
down his/her savings relatively quickly. In this case, s/he will be more likely to
be able to enjoy his/her money during his/her lifetime. But s/he also runs a risk
of running out of money while alive and having to cut back on his/her spending
as a result.

IF randomizer_education = 1 THEN

Fill code of question FLEdName executed

Fill code of question FLEdSheHe executed

Fill code of question FLEdSheHeCaps executed
Fill code of question FLEdHisHer executed

Fill code of question FLEdHisHerCaps executed
Fill code of question FLEdManWoman executed
Fill code of question FLBlock executed
ed_reward :=0

(Section Educationsection)

First, we will show you a story about (Mr. Jones/Mrs. Jones/Mr. Smith/Mrs. Smith).
Please pay close attention to the story, because at the end we will ask you two questions
about the story. You will receive an additional $1 for each question you answer correctly.
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(Mr. Jones/Mrs. Jones/Mr. Smith/Mrs. Smith) is a single, 65-year old (man/woman) with
no children, and (he/she) is as healthy as the typical 65-year old (man/woman). (He/She)
just retired and receives (his/her) monthly Social Security check. (He/She) is talking
with (his/her) financial adviser on how to spend (his/her) substantial savings in retirement.

("FLEdHisHerCaps advisor explains that "FLEdSheHe could decide to spend down
"FLEdHisHer savings relatively quickly. In this case, "FLEdSheHe will be more likely to
be able to enjoy "FLEdHisHer money during "FLEdHisHer lifetime. But "FLEdSheHe also
runs a risk of running out of money while alive and having to cut back on "FLEdHisHer
spending as a result.

"FLEdHisHerCaps advisor explains that "FLEdSheHe could also decide to spend
down "FLEdHisHer savings relatively slowly. In this case, "FLEdSheHe will be less
likely to run out of money. But now "FLEdSheHe runs a risk of not getting to enjoy all
"FLEdHisHer money during "FLEdHisHer lifetime./"FLEdHisHerCaps advisor explains
that "FLEdSheHe could decide to spend down "FLEdHisHer savings relatively slowly. In
this case, "FLEdSheHe will be less likely to run out of money. But now "FLEdSheHe runs
a risk of not getting to enjoy all "FLEdHisHer money during "FLEdHisHer lifetime.

"FLEdHisHerCaps advisor explains that "FLEdSheHe could also decide to spend
down "FLEdHisHer savings relatively quickly. In this case, "FLEdSheHe will be more
likely to be able to enjoy "FLEdHisHer money during "FLEdHisHer lifetime. But "FLEd-
SheHe also runs a risk of running out of money while alive and having to cut back on
"FLEdHisHer spending as a result.)

Figure 1: Example of possible introduction to Education section

First, we will show you a story about Mr. Jones. Please pay close attention to the story, because at the end we will ask you two questions about the story. You will receive
an additional $1 for each question you answer correctly

Mr. Jones is a single, 65-year old man with no children, and he is as healthy as the typical 65-year old man. He just retired and receives his monthly Secial Security check.
He is talking with his financial adviser on how to spend his substantial savings in retirement.

His advisor explains that he could decide to spend down his savings relatively quickly. In this case, he will be more likely to be able to enjoy his meney during his lifetime.
But he also runs a risk of running cut of meney while alive and having to cut back on his spending as a result.

His advisor explains that he could also decide to spend down his savings relatively slowly. In this case, he will be less likely to run out of money. But now he runs a risk of
not getting to enjoy all his meney during his lifetime.

(spending savings more quickly in section Educationsection)
Remember, you will earn an extra $1 for each question you answer correctly on this

page.

The financial advisor tells (Mr. Jones/Mrs. Jones/Mr. Smith/Mrs. Smith) that
spending down (his/her) savings more quickly:
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1 Increases the risk that (he/she) does not get to enjoy all of (his/her) money during
(his/her) lifetime.

2 Decreases the risk that (he/she) runs out of money during (his/her) lifetime.

3 Increases the risk that (he/she) runs out of money during (his/her) lifetime.

4 None of the above.

(spending savings more slowly in section Educationsection)

The financial advisor tells (Mr. Jones/Mrs. Jones/Mr. Smith/Mrs. Smith) that spending
down (his/her) savings more slowly:

1 Increases the risk that (he/she) runs out of money during (his/her) lifetime.

2 Decreases the risk that (he/she) does not get to enjoy all of (his/her) money during
(his/her) lifetime.

3 Increases the risk that (he/she) does not get to enjoy all of (his/her) money during
(his/her) lifetime.

4 None of the above.

END OF GROUP

IF ed_001 = 3 THEN
| ed_reward := ed_reward + 1
END OF IF

IF ed_002 = 3 THEN
| ed_reward := ed_reward + 1

END OF IF

led_003| (how quickly should spend savings in section Educationsection)

Now we are going to switch to a different type of question. Instead of asking you about
facts, we are going to ask your advice about what decisions (Mr. Jones/Mrs. Jones/Mr.
Smith/Mrs. Smith) should make. Unlike the previous questions, there is no right or wrong
answer; we just want to know what you think.

Recall (Mr. Jones/Mrs. Jones/Mr. Smith/Mrs. Smith), the retired, single, 65-year
old (man/woman) with no children. (He/She) is as healthy as the typical 65-year old
(man/woman).

How quickly should (he/she) spend (his/her) savings?
1 Spend (his/her) savings by age 70. (He/She) can spend a large amount each year,
but (he/she) will have to cut back if (he/she) lives beyond 70. If (he/she) dies before 70,
(he/she) will not have enjoyed all of (his/her) savings.
2 Spend (his/her) savings by age 80. (He/She) can spend a moderate amount each year,
but (he/she) will have to cut back if (he/she) lives beyond 80. If (he/she) dies before 80,
(he/she) will not have enjoyed all of (his/her) savings.

3 Spend (his/her) savings by age 90. (He/She) can spend a modest amount each year,
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but (he/she) will have to cut back if (he/she) lives beyond 90. If (he/she) dies before 90,
(he/she) will not have enjoyed all of (his/her) savings.

4 Spend (his/her) savings by age 100. (He/She) can spend a small amount each year,
and (he/she) will have to cut back if (he/she) lives beyond 100. If (he/she) dies before
100, (he/she) will not have enjoyed all of (his/her) savings.

END OF IF

End of section [Educationsection|
Start of section

/*

o [randomizer_name} Determines the name used in the hypothetical questions in the
Advice section: 1 Mr. Jones, 2 Mrs. Jones, 3 Mr. Smith, 4 Mrs. Smith. It takes the
value opposite of that of randomizer_ed_name with regard to name and gender. For
example, if randomizer_ed_name equals 1, then randomizer_name will equal 4.

o [randomizer_advice_introf Determines which introduction was presented to the re-
spondent.

— Value of 1: FLName is a single, 60-year old man/woman with no children.
S/he will retire and claim his/her Social Security benefits at 65. When s/he re-
tires, s/he will have $100,000 saved for his/her retirement, and s/he will receive
$FLSSB in monthly Social Security benefits. Based on his/her current health
and family history, doctors have told FLName that s/he will almost certainly be
alive at age 75 but almost certainly will not live beyond age 85.

— Value of 2: FLName is a single, 60-year old man/woman with no children. S/he
will retire and claim his/her Social Security benefits at 65. When s/he retires,
s/he expects to have $100,000 saved for his/her retirement, and expects to re-
ceive $FLSSB in monthly Social Security benefits. Based on his/her current
health and family history, doctors have told FLName that/she has an 80% chance
of being alive at age 70, a 50% chance of being alive at age 80, a 20% chance
of being alive at age 90, and a 10% chance of being alive at age 95.

— Value of 3: FLName is a single, 60-year old man/woman with no children. Social
Security rules state that you need at least 40 credits, or 10 years of work, to
qualify for Social Security — and FLName qualifies since s/he has worked for
30 years. Since FLName was born in 1956, his/her full retirement age is 66
years and 4 months, but s/he is eligible to start claiming starting at 62. S/he will
retire and claim his/her Social Security benefits at 65. When s/he retires, s/he
will have $100,000 saved for his/her retirement, and s/he will receive $FLSSB
in monthly Social Security benefits. Based on his/her current health and family
history, doctors have told FLName that s/he will almost certainly be alive at age
75 but almost certainly will not live beyond age 85.
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o [randomizer_advice_ssb| Determines the height of the monthly security benefits pre-
sented in the Advice section introduction (1=800, 2=1200, 3=1600, 4=2000). It also
forms the basis for the monthly benefits presented in the AD_001 series (where the
monthly benefit amount is the randomized amount plus 100 in the option of just a
monthly benefit) and in the AD_002 series (where the monthly benefit amount is the
randomized amount minus 100 in the option of just a monthly benefit). The amount
set by randomizer_advice_ssb is also used in the other option from which the respon-
dent can choose, which is a monthly benefit as set by randomizer_advice_ssb and a
receipt/payment of an one time sum at age 65.

o [randomizer_advice_orderf Determines the order in which the hypothetical choices
between a monthly benefit OR a monthly benefit plus one time payment at age 65
are presented. With a value of 1 the respondent is asked to first choose several times
between receiving a monthly benefit as set by (randomizer_advice_ssb + 100) or re-
ceiving a monthly benefit as set by randomizer_advice_ssb and receive a one-time
payment (where the height of the one-time payment varies on the choices the respon-
dent makes). Next, the respondent is asked to choose several times between receiv-
ing a monthly benefit as set by (randomizer_advice_ssb - 100) or receiving a monthly
benefit as set by randomizer_advice_ssb and make a one-time payment (where the
height of the one-time payment varies on the choices the respondent makes). If the
randomizer value is 2, the order is reversed.

o [randomizer_advice_answer_order; Determines the order in which the options of
each choice are presented. If the value is 1, then option 1 is the monthly benefit and
option 2 the monthly benefit and one-time payment. If the randomizer value is 2, the
order is reversed.

o [randomizer_advice_Isstartvalue| Determines the start value for the one-time pay-
ments offered in the hypothetical choices presented to the respondent (1= LS Low:
$10000, 2=2 LS Medium: $20000, 3=3 LS High: $30000). Note that all one-time
payments offered are captured in separate variables. For the AD_001 series (receive
one-time payments) they are captured in variables of the form FLSellPayment. For
the AD_002 series (make one-time payments) they are captured in variables of the
form FLBuyPayment.

*/
Fill code of question FLAdvicelntro executed

(Section Advice)

In the next few questions, we are going to ask you to give some advice to (Mr. Jones/Mrs.
Jones/Mr. Smith/Mrs. Smith) for when (he/she) retires. You will be happy to know that
whatever advice you give (Mr. Jones/Mrs. Jones/Mr. Smith/Mrs. Smith), (he/she) will not
owe any taxes on the amounts shown and (his/her) benefits will keep up with inflation.
There is no right or wrong answer; we just want to know what you think.

("FLName is a single, 60-year old "FLManWoman with no children. "FLSheHeCaps
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will retire and claim "FLHisHer Social Security benefits at 65. When "FLSheHe retires,
"FLSheHe will have $100,000 saved for “FLHisHer retirement, and "FLSheHe will receive
$"FLSSB in monthly Social Security benefits. Based on “FLHisHer current health and
family history, doctors have told "FLName that "FLSheHe will almost certainly be alive at
age 75 but almost certainly will not live beyond age 85./"FLName is a single, 60-year old
"FLManWoman with no children. "FLSheHeCaps will retire and claim "FLHisHer Social
Security benefits at 65. When "FLSheHe retires, "FLSheHe expects to have $100,000
saved for "FLHisHer retirement, and expects to receive $"FLSSB in monthly Social
Security benefits. Based on "FLHisHer current health and family history, doctors have told
"FLName that "FLSheHe has an 80% chance of being alive at age 70, a 50% chance of
being alive at age 80, a 20% chance of being alive at age 90, and a 10% chance of being
alive at age 95./"FLName is a single, 60-year old "FLManWoman with no children. Social
Security rules state that you need at least 40 credits, or 10 years of work, to qualify for
Social Security - and "FLName qualifies since "FLSheHe has worked for 30 years. Since
"FLName was born in 1956, "FLHisHer full retirement age is 66 years and 4 months, but
"FLSheHe is eligible to start claiming starting at 62. "FLSheHeCaps will retire and claim
"FLHisHer Social Security benefits at 65. When "FLSheHe retires, "FLSheHe will have
$100,000 saved for "FLHisHer retirement, and "FLSheHe will receive $"FLSSB in monthly
Social Security benefits. Based on "FLHisHer current health and family history, doctors
have told "FLName that "FLSheHe will almost certainly be alive at age 75 but almost
certainly will not live beyond age 85.)

Figure 2: Example of possible introduction to Advice section

In the next few questions, we are going to ask you to give some advice to Mr. Smith for when he retires. You will be happy to know that whatever advice you give Mr.
Smith, he will not owe any taxes on the amounts shown and his benefits will keep up with inflation. There is no right or wrong answer; we just want to know what you
think

Mr. Smith is a single, 60-year old man with no children. He will retire and claim his Social Security benefits at 65. When he retires, he will have $100.000 saved for his
retirement, and he will receive $2000 in monthly Social Security benefits. Based on his current health and family history, doctors have teld Mr. Smith that he will almost
certainly be alive at age 75 but almost certainly will not live beyend age 85.

Fill code of question FLBuyBold executed
Fill code of question FLSellBold executed

IF randomizer_advice_order = 1 THEN
Start of section

sellrow(1) =1
LOOP FROM 1 TO 5
Fill code of question FLADOO1 executed

IF sellecnt =1 THEN
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FLSellPayment(sellcnt) =  getPayment(randomizer_advice_Isstartvalue, sell-
row(sellcnt), sellcnt)

ELSE
IF AD_001(sellcnt-1) = 1 THEN

sellrow(sellcnt) := sellrow(sellcnt-1) + pow(2,4-sellcnt+1)
FLSellPayment(sellcnt) := getPayment(randomizer_advice_lsstartvalue,  sell-
row(sellcnt), sellcnt)

ELSE

sellrow(sellcnt) := sellrow(sellcnt-1)
FLSellPayment(sellcnt) := getPayment(randomizer_advice_lsstartvalue,  sell-
row(sellcnt), sellent)

END OF IF

END OF IF

ad_001|(sell choice in section Advice)

(Suppose that the Social Security Administration is considering a new policy that gives
people more choice in how they want to receive their benefits. As part of this policy,
"FLName is asked to make a choice between two money amounts.

What should "FLName do?/Now consider a different way of giving people more
choice in how they want to receive their benefits. As part of this policy, "FLName is
asked to make a choice between two money amounts./Now we ask you the same
question but with a different amount for the one-time payment.

What should "FLName do?)

1 Receive a Social Security benefit of $(()) per month starting at age 65.

2 Receive (his/her) expected Social Security benefit of $(800/1200/1600/2000) per
month and (receive/receive) a one-time payment of $(payment amount sell(sellcnt))
from Social Security at age 65.

Figure 3: Example of receive one-time payment scenario

Now consider a different way of giving people more choice in how they want to receive their benefits. As part of this policy, Mr. Smith is asked to make a choice between
two money amounts.

© Receive a Social Security benefit of $2100 per month starting at age 65.
© Receive his expected Social Security benefit of $2000 per month and receive a one-time payment of $20,000 from Social Security at age 65
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IF AD_001(sellcnt) = EMPTY THEN

END OF IF
END OF LOOP

End of section [Sell

(Section Advice)

Remember, ("FLName is a single, 60-year old "FLManWoman with no children. "FLShe-
HeCaps will retire and claim "FLHisHer Social Security benefits at 65. When "FLSheHe
retires, "FLSheHe will have $100,000 saved for “FLHisHer retirement, and “FLSheHe
will receive $"FLSSB in monthly Social Security benefits. Based on “FLHisHer current
health and family history, doctors have told "FLName that "FLSheHe will almost certainly
be alive at age 75 but almost certainly will not live beyond age 85./"FLName is a single,
60-year old "FLManWoman with no children. “FLSheHeCaps will retire and claim
"FLHisHer Social Security benefits at 65. When "FLSheHe retires, "FLSheHe expects
to have $100,000 saved for "FLHisHer retirement, and expects to receive $"FLSSB in
monthly Social Security benefits. Based on "FLHisHer current health and family history,
doctors have told "FLName that "FLSheHe has an 80% chance of being alive at age 70,
a 50% chance of being alive at age 80, a 20% chance of being alive at age 90, and a
10% chance of being alive at age 95./"FLName is a single, 60-year old "FLManWoman
with no children. Social Security rules state that you need at least 40 credits, or 10
years of work, to qualify for Social Security - and "FLName qualifies since "FLSheHe
has worked for 30 years. Since "FLName was born in 1956, "FLHisHer full retirement
age is 66 years and 4 months, but "FLSheHe is eligible to start claiming starting at 62.
"FLSheHeCaps will retire and claim "FLHisHer Social Security benefits at 65. When
"FLSheHe retires, "FLSheHe will have $100,000 saved for "FLHisHer retirement, and
"FLSheHe will receive $"FLSSB in monthly Social Security benefits. Based on "FLHisHer
current health and family history, doctors have told "FLName that "FLSheHe will almost
certainly be alive at age 75 but almost certainly will not live beyond age 85.)

Figure 4: Example of reminder of background for the Advice section

Remember. Mr. Smith is a single, 60-year old man with no children. He will retire and claim his Social Security benefits at 65. When he retires, he will have $100,000 saved
for his retirement, and he will receive $2000 in monthly Social Security benefits. Based on his current health and family history, doctors have told Mr. Smith that he will
almost certainly be alive at age 75 but almost certainly will not live beyond age 85.

Start of section

buyrow(1) =1
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LOOP FROM 1 TO 5

Fill code of question FLAD002 executed
IF buycnt = 1 THEN

FLMakePayment(buycnt) := getPayment(randomizer_advice_Isstartvalue,  buy-
row(buycnt), buycnt)

ELSE
IF AD_002(buycnt-1) = 2 THEN

buyrow(buycnt) := buyrow(buycnt-1) + pow(2,4-buycnt+1)
FLMakePayment(buycnt) := getPayment(randomizer_advice_Isstartvalue, buy-
row(buycnt), buycnt)

ELSE

buyrow(buycnt) := buyrow(buycnt-1)
FLMakePayment(buycnt) := getPayment(randomizer_advice_Isstartvalue, buy-
row(buycnt), buycnt)

END OF IF

END OF IF

ad_002 (buy choice in section Advice)
(Suppose that the Social Security Administration is considering a new policy that gives

people more choice in how they want to receive their benefits. As part of this policy,
"FLName is asked to make a choice between two money amounts.

What should "FLName do?/Now consider a different way of giving people more
choice in how they want to receive their benefits. As part of this policy, "FLName is
asked to make a choice between two money amounts./Now we ask you the same
question but with a different amount for the one-time payment.

What should "FLName do?)

1 Receive a Social Security benefit of $(()) per month starting at age 65.

2 Receive (his/her) expected Social Security benefit of $(800/1200/1600/2000) per
month and make a one-time (payment/payment) of $(make payment amount(buycnt))
to Social Security at age 65.
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Figure 5: Example of receive one-time payment scenario

Suppose that the Social Security Administration is considering a new policy that gives people more cheice in how they want to receive their benefits. As part of this policy,
Mr. Srrith is asked to make a choice between two money amounts.

What should Mr. Smith do?

© Receive a Social Security benefit of $1900 per menth starting at age 65
© Receive his expected Social Security benefit of $2000 per month and make a one-time payment of $20.000 to Social Security at age 65.

IF AD_002(buycnt) = EMPTY THEN
I

END OF IF

END OF LOOP

End of section [Buy]|
ELSE
Start of section

buyrow(1) =1
LOOP FROM 1 TO 5
Fill code of question FLAD002 executed

IF buycnt = 1 THEN

FLMakePayment(buycnt) := getPayment(randomizer_advice_Isstartvalue,  buy-
row(buycnt), buycnt)

ELSE

IF AD_002(buyent-1) = 2 THEN

buyrow(buycnt) := buyrow(buycnt-1) + pow(2,4-buycnt+1)
FLMakePayment(buycnt) := getPayment(randomizer_advice_lIsstartvalue, buy-
row(buycnt), buycnt)

ELSE

buyrow(buycnt) := buyrow(buycnt-1)
FLMakePayment(buycnt) := getPayment(randomizer_advice_Isstartvalue, buy-
row(buycnt), buycnt)

28


https://uasdata.usc.edu/section/uas49/buy
https://uasdata.usc.edu/section/uas49/buy

| END OF IF

END OF IF

(buy choice in section Advice)

(Suppose that the Social Security Administration is considering a new policy that gives
people more choice in how they want to receive their benefits. As part of this policy,
"FLName is asked to make a choice between two money amounts.

What should "FLName do?/Now consider a different way of giving people more
choice in how they want to receive their benefits. As part of this policy, "FLName is
asked to make a choice between two money amounts./Now we ask you the same
question but with a different amount for the one-time payment.

What should "FLName do?)

1 Receive a Social Security benefit of $(()) per month starting at age 65.

2 Receive (his/her) expected Social Security benefit of $(800/1200/1600/2000) per
month and make a one-time (payment/payment) of $(make payment amount(buycnt))
to Social Security at age 65.

IF AD_002(buycnt) = EMPTY THEN
|

END OF IF

END OF LOOP

End of section [Buy]|

(Section Advice)

Remember, ("FLName is a single, 60-year old "FLManWoman with no children. "FLShe-
HeCaps will retire and claim "FLHisHer Social Security benefits at 65. When "FLSheHe
retires, "FLSheHe will have $100,000 saved for "FLHisHer retirement, and "FLSheHe
will receive $"FLSSB in monthly Social Security benefits. Based on "FLHisHer current
health and family history, doctors have told "FLName that "FLSheHe will almost certainly
be alive at age 75 but almost certainly will not live beyond age 85./"FLName is a single,
60-year old "FLManWoman with no children. “FLSheHeCaps will retire and claim
"FLHisHer Social Security benefits at 65. When "FLSheHe retires, "FLSheHe expects
to have $100,000 saved for "FLHisHer retirement, and expects to receive $"FLSSB in
monthly Social Security benefits. Based on "FLHisHer current health and family history,
doctors have told "FLName that "FLSheHe has an 80% chance of being alive at age 70,
a 50% chance of being alive at age 80, a 20% chance of being alive at age 90, and a
10% chance of being alive at age 95./"FLName is a single, 60-year old "FLManWoman
with no children. Social Security rules state that you need at least 40 credits, or 10
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years of work, to qualify for Social Security - and "FLName qualifies since "FLSheHe
has worked for 30 years. Since "FLName was born in 1956, "FLHisHer full retirement
age is 66 years and 4 months, but "FLSheHe is eligible to start claiming starting at 62.
"FLSheHeCaps will retire and claim "FLHisHer Social Security benefits at 65. When
"FLSheHe retires, "FLSheHe will have $100,000 saved for "FLHisHer retirement, and
"FLSheHe will receive $"FLSSB in monthly Social Security benefits. Based on "FLHisHer
current health and family history, doctors have told "FLName that "FLSheHe will almost
certainly be alive at age 75 but almost certainly will not live beyond age 85.)

Start of section

sellrow(1) =1

LOOP FROM 1 TO 5
Fill code of question FLADOO1 executed
IF sellent =1 THEN

FLSellPayment(sellcnt) =  getPayment(randomizer_advice_Isstartvalue, sell-
row(sellcnt), sellent)

ELSE

IF AD_001(sellent-1) = 1 THEN

sellrow(sellcnt) := sellrow(sellcnt-1) + pow(2,4-sellcnt+1)
FLSellPayment(sellcnt) := getPayment(randomizer_advice_Isstartvalue,  sell-
row(sellcnt), sellcnt)

ELSE

sellrow(sellcnt) := sellrow(sellcnt-1)
FLSellPayment(sellcnt) := getPayment(randomizer_advice_Isstartvalue,  sell-
row(sellcnt), sellcnt)

END OF IF

END OF IF

(sell choice in section Advice)

(Suppose that the Social Security Administration is considering a new policy that gives
people more choice in how they want to receive their benefits. As part of this policy,
"FLName is asked to make a choice between two money amounts.
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What should "FLName do?/Now consider a different way of giving people more
choice in how they want to receive their benefits. As part of this policy, "FLName is
asked to make a choice between two money amounts./Now we ask you the same
question but with a different amount for the one-time payment.

What should "FLName do?)

1 Receive a Social Security benefit of $(()) per month starting at age 65.

2 Receive (his/her) expected Social Security benefit of $(800/1200/1600/2000) per
month and (receive/receive) a one-time payment of $(payment amount sell(sellcnt))
from Social Security at age 65.

IF AD_001(sellcnt) = EMPTY THEN
I

END OF IF

END OF LOOP

End of section[Sell
END OF IF

End of section

Start of section
/*

o randomizer_framing_order: Determines the order in which the Framing section ques-
tions are asked. A value of 1 indicates an order of fr_.001 and then fr_002. A value of
2 indicates the reverse order.

*/

IF randomizer_framing_order = 1 THEN

(people saved version in section Framing)
Imagine that the United States is preparing for the outbreak of an epidemic expected to

kill 600 people. Two alternative programs to combat the disease have been proposed.
Scientists estimate that the outcome of each program is as follows:

If Program A is adopted, 300 people will be saved.lf Program B is adopted, there
is a 50-50 chance that either 600 people will be saved or none will be saved.

Which program would you favor: Program A or Program B?

1 Program A

2 Program B
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fr_002| (people died version in section Framing)

Imagine that the United States is preparing for the outbreak of an epidemic expected to
kill 600 people. Two alternative programs to combat the disease have been proposed.
Scientists estimate that the outcome of each program is as follows:

If Program A is adopted, 300 people will die.If Program B is adopted, there is a
50-50 chance that either none will die or 600 people will die.
Which program would you favor: Program A or Program B?
1 Program A
2 Program B

ELSE
(people died version in section Framing)
Imagine that the United States is preparing for the outbreak of an epidemic expected to
kill 600 people. Two alternative programs to combat the disease have been proposed.
Scientists estimate that the outcome of each program is as follows:

If Program A is adopted, 300 people will die.lf Program B is adopted, there is a
50-50 chance that either none will die or 600 people will die.

Which program would you favor: Program A or Program B?

1 Program A

2 Program B

(people saved version in section Framing)
Imagine that the United States is preparing for the outbreak of an epidemic expected to

kill 600 people. Two alternative programs to combat the disease have been proposed.
Scientists estimate that the outcome of each program is as follows:

If Program A is adopted, 300 people will be saved.If Program B is adopted, there
is a 50-50 chance that either 600 people will be saved or none will be saved.

Which program would you favor: Program A or Program B?

1 Program A

2 Program B

END OF IF

End of section
Start of section

/*

o [randomizer_insurance_order} In the Insurance section respondents are presented
with several hypothetical insurance scenarios. For each scenarios the respondent
indicates whether they want to take out insurance or not on a machine. At the end of
the section one scenario is chosen at random and the respondent can win up to $5
in addition to a base $5 depending on whether the machine got damaged and/or the
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respondent took out insurance. The presentation of risk in each scenario varies. If
randomizer_insurance_order equals 1, first five scenarios with a fixed risk percentage
are presented and next five scenarios with a ranged risk percentage.

o [randomizer_insurance_group| The risk percentages presented to the respondent
are determined by randomizer randomizer_insurance_group (listed from first to fifth
scenario):

1 = Group 1: Known: 5, 10, 20, 50, 80, Ranged: 3-7, 1-19, 13-27, 46-54, 68-92
2 = Group 2: Known: 5, 10, 20, 40, 70, Ranged: 1-9, 3-17, 18-22, 28-52, 61-79
3 = Group 3: Known: 2, 10, 20, 40, 90, Ranged: 1-3, 6-14, 8-32, 38-42, 83-97

4 = Group 4: Known: 2, 10, 20, 30, 60, Ranged: 0-4, 8-12, 16-24, 21-39, 48-72

Note that the risk percentage presented for each scenario is captured in the FLINOO1
variables for the Known percentage scenarios (whose answers can be found in the
INOO1 variables) and in the FLINOO2 variables for the ranged percentage scenarios
(whose answers can be found in the INOO2 variables).

o [randomizer_insurance_ambiguity| In the scenarios with ranged risk a sentence on
the likelihood of the risk being at the lower or higher end of the range is included. The
exact text is dependent on the value of randomizer_insurance_ambiguity:

— Value of 1: The exact rate of damage within this range is unknown.
— Value of 2: All damage rates in this range are equally likely.

*/
GROUP OF QUESTIONS PRESENTED ON THE SAME SCREEN

lin_intro| (Section Insurance)

You can earn up to $10 for the next part. The amount you earn depends on the decisions
you make, so you should read carefully!

We will ask you to make decisions about insurance in a few different scenarios. This
time, at the end of the survey, one of the scenarios will be selected by the computer
as the "scenario that counts.” The money you earn in the "scenario that counts” will be
added to your usual UAS payment. Since you won’t know which scenario is the "scenario
that counts” until the end, you should make decisions in each scenario as if it might be
the one that counts.

We will use virtual dollars for this part. At the end of the survey, virtual dollars will
be converted to real money at the rate of 20 virtual dollars = $1. This means that 200
virtual dollars equals $10.00.

lin_intro2 (Section Insurance)

Each scenarioYou have 100 virtual dollarsYou are the owner of a machine worth 100
virtual dollars.Your machine has some chance of being damaged, and some chance of
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remaining undamaged, and the chance is described in each decision.You can purchase
insurance for your machine. You can use up to 100 virtual dollars you start with to
purchase the insurance. If you purchase insurance, a damaged machine will always be
replaced by an undamaged machine.At the end, in the scenario-that-counts, you will
get 100 virtual dollars for an undamaged machine. You will not get anything for a
damaged machine.

(Section Insurance)

Paying for insuranceYou will move a slider to indicate how much you are willing to
pay for insurance, before learning the actual price of insurance. To determine the
actual price of insurance in the "scenario that counts”, the computer will draw a price
between 0 and 100 virtual dollars, where any price between 0 and 100 virtual dollars is
equally likely.

If the amount you are willing to pay is equal to or higher than the actual price,
then:

You pay for the insurance at the actual price, whether or not your machine gets
damaged

If damage occurs, your machine is replaced at no additional cost. If there is no
damage, your machine remains undamaged. You get 100 virtual dollars for your
machine. That means you would earn 100 virtual dollars (what you start with) PLUS 100
virtual dollars (amount you get for machine) MINUS the price of insurance.

If the amount you are willing to pay for insurance is less than the actual price, then:

You do not pay for the insurance

If damage occurs, your machine is damaged and you do not get any money for
your machine. That means you would earn 100 (what you start with) but you would
not earn anything for your machine. If there is no damage, your machine remains
undamaged and you get 100 virtual dollars. That means you would earn 100 virtual
dollars (what you start with) PLUS 100 virtual dollars (amount you get for the machine).
This means that the higher your willingness to pay, the more likely it is that you
will buy insurance.

Figure 6: Explanation for Insurance section
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You can earn up to $10 for the next part. The amount you earn depends on the decisions you make,
so you should read carefully!

We will ask you to make decisions about insurance in a few different scenarics. This time, at the end of the survey, one of the scenarios will be selected by the computer as
the “scenario that counts.” The money you eam in the “scenaric that counts™ will be added to your usual UAS payment. Since you won't know which scenario is the “scenarnic
that counts™ until the end, you should make decisions in each scenaric as if it might be the one that counts.

We will use virtual dollars for this part. At the end of the survey, virtual dollars will be converted to real meney at the rate of 20 virtual dellars = $1. This means that 200 virtual
dollars equals $10.00.

Each scenario

“fou have 100 vittual dollars
“fou are the owner of a machine worth 100 virtual dollars.
“Your machine has some chance of being damaged, and some chance of remaining undamaged, and the chance is described in each decision.

« You can h for your hine. You can use up to 100 virtual dollars you start with to hi the i If you h a
damaged machine wil always be replaced by an d hi
= Atthe end, in the scenanc-that-counts, you will get 100 virtual dollars for an undamaged machine. You will not get amything for a hi

Paying for insurance

“fou will move a slider to indicate how much you are willing fo pay for insurance, before learning the actual price of insurance. To determine the actual price of
insurance in the "scenario that counts™, the will draw a price bet, 0 and 100 virtual doliars, where any price between 0 and 100 virtual dollars is equally
likety.

If the amount you are willing to pay is egual to or higher than the actual price, then:

= You pay for the insurance at the actual price, whether or not your machine gets damaged

If ge OCLUrS, your laced at no additional cost.

If there is no d your remains d

“You get 100 virual dollars for your machine.

That means you would eam 100 virual dellars (what you start with) PLUS 100 virtual dollars (amount you get for machine) MINUS the price of insurance.

° o o o

If the amount you are willing to pay for insurance is Jess than the actual price, then:

« ‘You do not pay for the insurance

o If damage occurs, your i and you do not get any meney for your machine. That means you would eam 100 (what you start with) but
you would not eam anything for your machine.
¢ [fthereisno d your hine remains d and you get 100 virtual dollars. That means you would eam 100 virtual dollars (what you start

with) PLUS 100 virtual dellars (amount you get for the machine).

This means that the higher your willingness to pay, the more likely it is that you will buy insurance.

Fill code of question FLRange executed

IF randomizer_insurance_order = 1 THEN
LOOP FROM 1 TO 5

FLINOO1(cnt) := getlnsuranceRisk(1, randomizer_insurance_group, cnt)
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(known risk amount willing to pay insurance in section Insurance)

Remember: You can earn up to $10 for this part. The amount you earn depends on
the decisions you make, so you should read carefully!

KNOWN DAMAGE RATE: The chance of your machine being damaged is ((cnt)).

Please move the slider to indicate the maximum amount you are willing to pay
for insurance.

Remember, if the amount you are willing to pay is higher than the actual price,
then you will pay for insurance at the actual price, whether or not your machine is
damaged. Should there be damage, your machine will be replaced and will pay out
100 virtual dollars. If the amount you are willing to pay is less than the actual price,
then you will not pay for insurance, but if damage occurs, your machine will not be
replaced and will not pay out any money.

RANGE 0..100

(Section Insurance)

If you do not select any price or select a price of 0, we assume you are unwilling to
pay for insurance.

Figure 7: Example of insurance scenario with known risk

Remember: You can earn up to $10 for this part. The amount you earn depends on the decisions you make, so you should read
carefullyl

0
KNOWN DAMAGE RATE: The chance of your machine being damaged is 2 AJ

Please move the slider to indicate the maximum amcunt you are willing te pay for insurance.

Remember, if the amount you are willing to pay is higher than the actual price. then you will pay for insurance at the actual price, whether or not your machine is damaged.
Should there be damage, your machine will be replaced and will pay out 100 virtual dellars. If the amount you are willing to pay is less than the actual price, then you will

not pay for insurance, but if damage oceurs, your machine will not be replaced and will not pay out any money.

[ 2]
0 . 100

IF in_001 (cnt) > 0 THEN

[in001 _confirmation| (Section Insurance)
You have indicated you are willing to pay up to (known risk amount willing to pay
insurance(cnt)) virtual dollars for insurance. If this is correct, please just click 'Next’
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| to continue. Otherwise, please go 'Back’ and adjust your answer.

ELSE

[in001_confirmation_empty| (Section Insurance)
You have indicated you are not willing to pay for insurance. If this is correct, please
just click 'Next’ to continue. Otherwise, please go 'Back’ and adjust your answer.

END OF IF

END OF LOOP

LOOP FROM 1 TO 5
FLINOO2(cnt) := getinsuranceRisk(2, randomizer_insurance_group, cnt)
GROUP OF QUESTIONS PRESENTED ON THE SAME SCREEN

(ranged risk amount willing to pay insurance in section Insurance)
Remember: You can earn up to $10 for this part. The amount you earn depends
on the decisions you make, so you should read carefully!UNCERTAIN DAMAGE
RATE: The chance of your machine being damaged is ((cnt)). (The exact rate
of damage within this range is unknown./All damage rates in this range are
equally likely.)

Please move the slider to indicate the maximum amount you are willing to pay
for insurance.

Remember, if the amount you are willing to pay is higher than the actual price,
then you will pay for insurance at the actual price, whether or not your machine is
damaged. Should there be damage, your machine will be replaced and will pay out
100 virtual dollars. If the amount you are willing to pay is less than the actual price,
then you will not pay for insurance, but if damage occurs, your machine will not be
replaced and will not pay out any money.

RANGE 0..100

in_note| (Section Insurance)
If you do not select any price or select a price of 0, we assume you are unwilling to
pay for insurance.

Figure 8: Example of insurance scenario with ranged risk
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Remember: You can earn up to $10 for this part. The amount you earn depends on the decisions you make, so you should read
carefullyl

UNCERTAIN DAMAGE RATE: The chance of your machine being damaged is betWEEn 1 % and 3% The exact rate of damage within
this range is unknown.

Please move the slider to indicate the maximum amount you are willing to pay for insurance.

Rermember. if the amount you are willing to pay is higher than the actual price, then you will pay for insurance at the actual price, whether or not your machine is damaged
Sheuld there be damage, your machine will be replaced and will pay out 100 virtual dellars. If the amount you are willing to pay is less than the actual price, then you will
not pay for insurance, but if damage cceurs, your machine will not be replaced and will not pay out any money.

Q
- 100

IF in_002(cnt) > 0 THEN

[in002_confirmation| (Section Insurance)

You have indicated you are willing to pay up to (ranged risk amount willing to pay
insurance(cnt)) virtual dollars for insurance. If this is correct, please just click 'Next’
to continue. Otherwise, please go 'Back’ and adjust your answer.

ELSE

[in002_confirmation_empty| (Section Insurance)
You have indicated you are not willing to pay for insurance. If this is correct, please
just click ’Next’ to continue. Otherwise, please go 'Back’ and adjust your answer.

END OF IF

END OF LOOP

ELSE
LOOP FROM 1 TO 5

FLINOO2(cnt) := getlnsuranceRisk(2, randomizer_insurance_group, cnt)

in_002 (ranged risk amount willing to pay insurance in section Insurance)
Remember: You can earn up to $10 for this part. The amount you earn depends
on the decisions you make, so you should read carefully!UNCERTAIN DAMAGE
RATE: The chance of your machine being damaged is ((cnt)). (The exact rate
of damage within this range is unknown./All damage rates in this range are
equally likely.)
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Please move the slider to indicate the maximum amount you are willing to pay
for insurance.

Remember, if the amount you are willing to pay is higher than the actual price,
then you will pay for insurance at the actual price, whether or not your machine is
damaged. Should there be damage, your machine will be replaced and will pay out
100 virtual dollars. If the amount you are willing to pay is less than the actual price,
then you will not pay for insurance, but if damage occurs, your machine will not be
replaced and will not pay out any money.

RANGE 0..100

in_note| (Section Insurance)
If you do not select any price or select a price of 0, we assume you are unwilling to
pay for insurance.

END OF GROUP

IF in_002(cnt) > 0 THEN

[in002_confirmation| (Section Insurance)

You have indicated you are willing to pay up to (ranged risk amount willing to pay
insurance(cnt)) virtual dollars for insurance. If this is correct, please just click 'Next’
to continue. Otherwise, please go 'Back’ and adjust your answer.

ELSE

[in002_confirmation_empty| (Section Insurance)
You have indicated you are not willing to pay for insurance. If this is correct, please
just click ’Next’ to continue. Otherwise, please go 'Back’ and adjust your answer.

END OF IF
END OF LOOP
LOOP FROM 1 TO 5
FLINOO1(cnt) := getlnsuranceRisk(1, randomizer_insurance_group, cnt)
GROUP OF QUESTIONS PRESENTED ON THE SAME SCREEN
(known risk amount willing to pay insurance in section Insurance)

Remember: You can earn up to $10 for this part. The amount you earn depends on
| the decisions you make, so you should read carefully!
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KNOWN DAMAGE RATE: The chance of your machine being damaged is ((cnt)).

Please move the slider to indicate the maximum amount you are willing to pay
for insurance.

Remember, if the amount you are willing to pay is higher than the actual price,
then you will pay for insurance at the actual price, whether or not your machine is
damaged. Should there be damage, your machine will be replaced and will pay out
100 virtual dollars. If the amount you are willing to pay is less than the actual price,
then you will not pay for insurance, but if damage occurs, your machine will not be
replaced and will not pay out any money.

RANGE 0..100

(Section Insurance)

If you do not select any price or select a price of 0, we assume you are unwilling to
pay for insurance.

END OF GROUP

IF in_001(cnt) > 0 THEN

[in001_confirmation| (Section Insurance)

You have indicated you are willing to pay up to (known risk amount willing to pay
insurance(cnt)) virtual dollars for insurance. If this is correct, please just click 'Next’
to continue. Otherwise, please go 'Back’ and adjust your answer.

ELSE

[in001_confirmation_empty| (Section Insurance)
You have indicated you are not willing to pay for insurance. If this is correct, please
just click ’Next’ to continue. Otherwise, please go 'Back’ and adjust your answer.

END OF IF

END OF LOOP
END OF IF

Fill code of question FLX executed
Fill code of question FLY executed

/* A question of comprehension is asked after the hypothetical scenarios. The range

presented in the question is dependent on the value of randomizer_insurance_group. The
exact minimum and maximum of the range shown to the respondent are captured in
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and [FLY|respectively. They are:

o
(¢]
o

e}

*/

1 =Group 1: 3-7

2 = Group 2: 3-17
3 = Group 3: 8-32
4 = Group 4: 21-39

in_003| (confirmation question in section Insurance)
Before we finish, we’d like you to answer a final question. You will receive $1 for a correct
answer.

Suppose a machine has a chance of being damaged between (3/3/8/21)% and
(7/17/32/39)%. All damage rates in this range are equally likely. What is the aver-
age rate of damage for this machine?

RANGE 0..100

/* One scenario is randomly selected below and it is assessed whether the respon-
dent won any money. The procedure is as follows:

o
o
o

e}

*/

Select a scenario
Select the point of failure (between 0 and 100)
Select the price of insurance

Determine if the respondent bought insurance by comparing the maximum price the
respondent was willing to pay for insurance with the selected price.

Determine whether the machine failed by comparing the selected point of failure with
the risk of failure. For example, if the selected point was 45 in the selected scenario
and the risk was known to be 50%, then the machine failed.

Determine if and if yes, how much the respondent won. If the machine failed and no
insurance was bought, nothing is won. If the machine did not fail and no insurance
was bought, then $5 was won. If the machine failed and insurance was bought, $5
minus the cost of insurance was won. If the machine did not fail and insurance was
bought, $5 minus the cost of insurance was won.

in_check_reward := getINOO3Reward(randomizer_insurance_group, in_003)
in_reward := 0
in_scenario_reward =0

IF in_scenario = EMPTY THEN
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in_scenario := mt_rand(1,10)
in_failurepoint := mt_rand(0,100)
in_price := mt_rand(0, 100)
in_scenario_dummy := in_scenario

IF randomizer_insurance_order = 2 AND in_scenario > 5 THEN
| in_scenario_dummy := in_scenario - 5

ELSEIF randomizer_insurance_order = 2 AND in_scenario < 6 THEN
| in_scenario_dummy := in_scenario + 5

END OF IF

IF in_scenario < 6 THEN
in_-maximum :=in_001(in_scenario)

IF in_Lmaximum = EMPTY THEN
| in_maximum =0
END OF IF

in_probability := FLINOO1(in_scenario)

IF in_001(in_scenario) = EMPTY OR (in_.001(in_scenario)) = RESPONSE AND
in_001(in_scenario) < in_price) THEN

| in_bought := 2
ELSE

| in_bought := 1
END OF IF

in_failed := getFailed(1, randomizer_insurance_group, in_scenario, in_failurepoint)

ELSE
in_-maximum := in_002(in_scenario-5)

IF in_Lmaximum = EMPTY THEN
| in_maximum =0
END OF IF

in_probability := FLINOO2(in_scenario-5)

IF in_002(in_scenario-5) = EMPTY OR (in_.002(in_scenario-5) = RESPONSE AND
in_002(in_scenario-5) < in_price) THEN

| in_bought := 2
ELSE
| in_bought := 1
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END OF IF

in_failed := getFailed(2, randomizer_insurance_group, in_scenario, in_failurepoint)
END OF IF

IF in_failed = 1 AND in_bought = 2 THEN

| in_scenario_reward_virtual := 0

ELSEIF in_failed = 1 AND in_bought = 1 THEN
| in_scenario_reward_virtual := 100 - in_price
ELSEIF in_failed = 2 AND in_bought = 2 THEN
| in_scenario_reward_virtual := 100

ELSEIF in_failed = 2 AND in_bought = 1 THEN
| in_scenario_reward_virtual := 100 - in_price
END OF IF

in_scenario_reward := number_format((100 + in_scenario_reward_virtual)/20, 2)
in_reward := number_format(in_check_reward + in_scenario_reward, 2)
in_scenario_reward_virtual_total := in_scenario_reward_virtual + 100

END OF IF

reward := number_format(ed_reward + in_reward, 2)
Fill code of question FLBought executed

Fill code of question FLDamage executed

Fill code of question FLPaid executed

Fill code of question FLEdReward executed

[in_confirmation| (Section Insurance)
Thank you for participating!

The computer selected scenario (()) to be the "scenario that counts”.

The computer selected the price of (indicates price of insurance()) virtual dollars for
the insurance. Since the maximum you were willing to pay for insurance was (maximum
willing to pay for selected insurance scenario()) virtual dollars, you (bought/did not buy)
insurance a the price of (indicates price of insurance()) virtual dollars.

The likelihood of damage for scenario (()) was (insurance scenario probability of fail-
ure()). Your machine (was/was not) damaged and you got (100 virtual dollars/nothing) for
your machine.

Based on the scenario the computer selected, your earnings for this part are (total
virtual reward earned for selected insurance scenario (includes 100 base amount)())
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virtual dollars.

Converted to real money, your earnings are $(reward earned for selected insurance
scenario()).

You also earned $(reward earned for insurance questions()) in the previous ques-
tion.

(You also won $"ed_reward for your answers to our quiz questions making for a total
of $"reward./You did not win any reward for your answers to our quiz questions making for
a total of $’reward./This makes for a total of $"reward.) This will be added to your usual
UAS payment.

Figure 9: Example of final result of how much the respondent won during the survey

Thank you for participating!
The computer selected scenario 4 to be the “scenario that counts”

The computer selected the price of 22 virtual dollars for the insurance. Since the maximum you were willing to pay for insurance was 86 virtual dollars, you bought
insurance a the price of 22 virtual dollars.

The likelihood of damage for scenario 4 was between 38% and 42%. Your machine was not damaged and you got 100 virtual dollars for your machine.
Based on the scenaric the computer selected, your eamings for this part are 178 virtual dollars.

Converted to real money, your earnings are $8.50

‘You also eamed $1 in the previous question

You also won $2 for your answers to our quiz questions making for a total of $11.90. This will be added to your usual UAS payment.

MNext =

End of section [nsurancel

Start of section|Closing

(HOW PLEASANT INTERVIEW in section Closing)

Could you tell us how interesting or uninteresting you found the questions in this interview?
1 Very interesting

2 Interesting

3 Neither interesting nor uninteresting

4 Uninteresting

5 Very uninteresting

CS_003| (comments in section Closing)

Do you have any other comments on the interview? Please type these in the box below.(If
you have no comments, please click next to complete this survey.)

STRING
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IF reward > 0 AND reward < 14 THEN
| dummy := doPayout(reward)

ELSEIF reward > 13 THEN
| dummy := sendEmailNotPaid(reward)

END OF IF

End of section

/* Please note that although question CS_003 is listed in the routing, the answers
are not included in the microdata in the event identifiable information is captured. Cleaned
responses are available by request. */
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